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2-¢) The astronomic coordinates ol point A is (& = 23 48' 20 ", A= 32° 40" 05". 11=120.75 m). If the Geoid
undulation an deflection components are ( N=12.25 m, &= 12.25", n=-16.75 ") and The cllipsoid parameters ¢ f
WGS84 are (a = 6378137 m. {= 1/297). Calculate The geodetic and Cartesian coordinates of point A with
respect o WGS 84. (8 Marks)

3-a) In order to survey the building ABCD the following observations were taken

PA =250.80m, QA = 240.40 m. PB = 203.07 m, and QB = 310.20 m. If the co-ordinates of two points P and Q
arc (30.00, 86.59) and (309.10, (.00) respectively, calculate the length and bearing of building side AB .

(8 Marks)

3-b) Give a short notes on the following:

a) Ellipsoid

b) Intersection & Resection

c)  Control survey & detail Survey * X :
d)  Meridian radius of curvature (M) & Prime vertical radius (p) (4 Marks) A

3-¢) Compute the geodetic coordinates ol the following Points from known

Cartesian coordinates when all data are observed in WGS84. (8 Marks)
Point X W o Z
A 4766417 2818986 3154556

The WGS84 cllipsoid paramelters are:
Semi- Major Axis (a) = 6378137 meters ‘
Scimi- Minor Axis (b) =6356752.3142 meters

4-a) Field measurements for a small construction site triangulation are shown in the following table. Using this data,

calculate the coordinates ol station S and W by using  cqual shift  methrd.

(12 Marks) i
T\Fch-—_‘h T Observed value Station Coordinates o
E ' N
i B T F 71937 ~ 250,00
2 6 T 250.00 44715
3 TR 46 10 N o r
4 3257 52
s BT R T S T
6 | 2 37
7 16l 59
8 e | oS 52
9 22 32 ! ]

4- b) In the above fipure compute the relative strength between the two sides RS and SI

(8 Marks)

Good luck I- Prof. dr. M. Mewafi 2- Dr. Abd ¥l Manaim  baker
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1-a) Compute the corrected coordinates of points C and D for the shown traverse. If the data from observations are

as follow: ' (10 Marks)

No. Observed angles Line Length (m) Azimuth

1 104° 00" 307 BC 1000 BA 43° 317 307

2 63° 200 007 CD 2500 FG 106 17’ 30”

3 258 11 007 DE 2000

4 120° 45" 207 EF 1200

5 230° 307 307 coordinates

3l 78247 007 X Y
B 50 150

) A%

1-b) The lollowing are the interior angles of the closed loop traverse ABCDEF. ! the observed azimuth of the line

AB is 92°30 “ 407, compute the corrected coordinates of Traverse points.

(10 Marks)
line Length Point - Observed angles . S o
| D
L5 AB 315 A 31° 09' 207 By
BC 760 3 166° 15" 40 |
CD 841 C 127°55” 40” i
DE 870 D 64° 06’ 20"
EF 540 i Lo
A 2480—4): 207° 26° 40 4 C
= 7806 719° 58’ 00” ;: \)
AS
—— /
A [ Y
| A —
2-a) State the dilferent steps and procedures that are taken & %&;;l ' ’
into consideration lo construct triangulation network. - l; - -

(4 Marks)
2-b) In the shown figure, determine the number
and type of condition cquations, and
Y

write down only onc of cach type of

condition equations. (8 Marks)

Good luck I- Prof. dr. M. Mewafi
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- Table (1): Factors for determining the values of (ai £ 51- sj = 5'% )
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